
Manual de Montaje/Instalación
2020



  

 
  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 



  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

Importante, antes de empezar
¡Lea este manual detenidamente!

PAR DE APRIETES

M6 - 14 Nm 
M8 - 24 Nm



For more information, contact us at info@edstrom.se 

 

Contents 
Dra wer  i n s ta l la t ion  ................................................................................................................................. 3 

Installation of Extension slides ..................................................................................................................... 3 

Shelf to Drawer ............................................................................................................................................. 4 

Shelf on Drawer ............................................................................................................................................ 4 

Drawer to Shelf Frame ................................................................................................................................. 4 

Pegboard to Drawer ................................................................................................................................... 4 

P la in  she et  Pegb oar d to  She l f  F ra me  .......................................................................................... 5 

S he lv es  ........................................................................................................................................................... 5 

S l id in g  she lv es  ........................................................................................................................................... 6 

Fa l se  F loor  w i th  S l id i ng  She lv es  ....................................................................................................... 8 

Drop f ront  ...................................................................................................................................................... 9 

Drop f ront  s he lv es  &  P las t ic  b ins  ................................................................................................... 10 

F l ip f r on t  ....................................................................................................................................................... 11 

Ad j us tab le  She lv es  w i th  F l ip f r on t  ................................................................................................. 11 

S he l f  jo i n t  ................................................................................................................................................... 12 

Mul t ip u rpose  B r acket  .......................................................................................................................... 12 

Mount i ng/ I ns ta l la t i on  Ov erv i ew ................................................................................................... 13 

I n s ta l la t ion  i n  v ehic le  ......................................................................................................................... 15 

Installation of Airline tracks ....................................................................................................................... 16 

Installation in floor ...................................................................................................................................... 17 

Floor installation in electrical -and hybrid cars ...................................................................................... 18 

I n s ta l la t ion  c omponen ts  .................................................................................................................... 19 

Ha ndl ing  of  S ys tem Eds t r öm  ............................................................................................................ 20 

How much can you load in System Edström ......................................................................................... 20 

 
 
 
 
 
 
 
 
Find more Mounting manuals, for specific product categories, on our website 
www.systemedstrom.com 
 

 Flexi System  

 Sliding pegboard, drawer & shelf frame  

 Internal ladder 

 Foldable Vice Holder/Bench 

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

Contenido 
Instalación de los cajones ...................................................... 3 

Instalación de guías de extensión................................................... 3 
Estante junto a la cajonera ........................................................... 4 
Cajones bajo un estante ............................................................... 4 
Cajoneras sujertas al bastidor de estanterías ................................... 4 
Tableros con marco para montar cajones ........................................ 4 

Tableros perforados al bastidor de estanterías .................................... 5 
Estantes .......................................................................... 5 
CAJONES XL ...................................................................... 6 
Falso suelo con cajones XL ..................................................... 8 
Frontales ...................................................................................... 9 
Estantes sin frontal y gaveta de plástico .......................................... 10 
Darles la vuelta a los frontales .............................................................. 11 
Estantes ajustables con frontales abatibles ................................ 11 
Unir los bastidores .............................................................................. 12 
Soportes multiusos ......................................................... 12 
Montaje / instalación Descripción general............................. 13 
Instalación en el vehículo .................................................................. 15 

Instalación de los perfiles de amarre ............................................ 16 
Instalación en el suelo del vehículo .............................................. 17 
Instalación en el  suelo de vehículos eléctricos e híbridos. ...................... 18 

Componentes para la instalación ........................................................... 19 
Manejo del sistema Edström ................................................. 20 

¿Cuánto se puede cargar las estanterías?. ........................................... 20 

Encuentre más manuales de montaje, para categorías específicas de productos, 
en nuestro si�o web www.zinca.net.



3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

Instalación de guías de extensión

Instalación de los cajones

1. Si las guías del cajón están montadas en la cajonera, 
re�relas antes de montar los cajones entre sí. 

Coloca las cajoneras una encima de la otra.

2 Atornille las cajas con un tornillo  M6x10 mm 
y asegúrelas con la tuerca M6. Dos juegos de tornillos y 
tuercas por caja son suficientes, preferiblemente en 
patrón diagonal.

U�lice el mismo método que el anterior para montar 
el zócalo  y asegúrelo con tornillos y tuercas M6x10 mm.

Debe tener 2 guías diferentes, una marcada con una "L" 
para la izquierda y otra marcada con una "R" para la derecha.

1 Coloque las dos clavijas en los orificios circulares 
correspondientes en la parte posterior de la caja del cajón.

2  Encaje la brida en el orificio cuadrado en la parte delantera 
de la caja del cajón.

3  Extraiga las guías y encaje el cajón en las cuatro bridas.

4  Empuje el cajón hacia adentro.



4  

 
 

- Align shelf holes to 
corresponding holes in the 
drawer case. 

- Use M6x10 collar screw and 
M6 collar nut. 

 
 
 
 
 
 
 

 
- Align shelf holes to 

corresponding holes on the 
drawer case. 

- Use M6x10 collar screw and 
M6 collar nut. 

- Suspended drawers must be 
mounted in the top shelf. 

- Every drawer must be 
mounted to each other. 

- In case of high payload, 
you must use a support 
rail under the drawers. 

 
- Align drawer case holes to 

corresponding holes on the 
shelf frame. 

- Use M6x10 self-tapping screws 
from inside of the case and 
corresponding nuts from inside 
of the shelf frame. 

- Every drawer case must be 
mounted together. 

- Drawer to drawer, use M6x10 
mm collar screw and M6 
collar nut. 

 

 
- Drill Ø 6,5 mm holes in the 

pegboard, see picture. 
Number of holes depends on 
the size of the pegboard. 

- Add a plastic spacer 
between the 
pegboards inside and 
drawer case, and let 
the screw go through it. 
This prevents the 
pegboard from being 
deformed. (Ordered 
separately, Part. Nr. 
3031)  

- Use M6x25 collar screw and 
M6 collar nut. 

Shelf on Drawer 

Drawer to Shelf Frame 

Pegboard to Drawer  

Shelf to Drawer 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

Estante junto a la cajonera

Cajones bajo un estante

Cajoneras sujetas al bastidor

Tableros con marco para montar cajones

- Alinee los orificios del estante con los orificios correspondientes 
en el estante de la cajonera.
- U�lice un tornillo de collar M6x10 y una tuerca M6.

- Alinee los orificios del estante con los orificios 
correspondientes de de la cajonera.

- U�lice un tornillo M6x10 y una tuerca M6.

- Las cajoneras suspendidos deben montarse en el estante superior.

- Todas las cajoneras deben estar montadas entre sí.

- En caso de carga ú�l elevada, debe u�lizar un per�l de apoyo
debajo de las cajoneras.

- Alinee los orificios de la cajonera con los orificios 
correspondientes en el bas�dor de estantería.

- U�lice tornillos autorroscantes M6x10 del interior de la 
caja y las tuercas correspondientes al bas�dor.

- Todas las cajoneras deben montarse juntas.

- De cajonera a cajonera, u�lice un tornillo M6x10 mm 
y una tuerca de M6.

- Taladrar agujeros de Ø 6,5 mm en el tablero, 
ver imagen.
El número de agujeros depende del tamaño del tablero.

- Agregue un espaciador de plás�co entre los tableros 
perforados en el interior y la cajonera, y deje que 
el tornillo lo atraviese. 

Esto evita que el tablero se deforme. 
(Pedido por separado, Part. Nr.3031)

- U�lice un tornillo M6x25 y una tuerca 
de M6.



5  

 
 

- Place the pegboard on the 
shelf frame, align the holes in 
the pegboard with the holes 
in the frame. 

- Mount the pegboard with 
self-tapping M6x10 screws in 
the holes on the sides. 

- For extra stability, mount a Ø 
4,8x10 mm aluminum rivet in 
the middle hole of the 
pegboard. 

 
 

- Place the shelf at the desired height and 
use M6x10 mm self-tapping screw, one in 
each corner, and bolt it in the shelf 
frame. 

- Dropfront shelves are mounted with 
two M6x10 mm collar screws in each 
corner.  

- Sliding shelf, see the instruction manual 
on page 6. 

- Shelf frame extensions is mounted with 
two M6x10 mm collar screw and M6 
collar nut at top of the shelf frame 

- Top shelf is mounted with M6x10 
mm self-tapping screw and M6 
collar nut. 

- All the screws are required to be 
mounted with a corresponding collar nut. 

 
 
 

- When using a support bracket 
(Part.Nr.1844), set the height and lock 
with two M6x10 mm collar screws and M6 
collar nuts. 

- If needed the support can be cut. 
- Support is then mounted with two M6x10 

mm collar screws and M6 collar nuts to 
the shelf.  
 

- Shelf frame support leg, is set to the 
desired height and mounted with M6x10 
mm self-tapping screw and collar nut. 

 
- When using a support with adjustable 

angle, make sure to set the angle 
horizontal.  

- Mount the shelf with two M6x10 mm collar 
screws and M6 collar nuts.  
 

- When using a shelf with adjustable length, 
set the length and drill four 6,5 mm holes 
on the side of the shelf (two on each side) 
and secure with M6x10 mm collar screws 
and M6 collar nuts. 

Shelves 

Plain sheet Pegboard to Shel f Frame 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

Tableros perforados al bastidor de estanterías

Estantes

- Coloque el tablero perforado en el bas�dor.
alinee los agujeros en el tablero con los agujeros 
en el marco.

- Monte el tablero perforado con tornillos M6x10 en los 
orificios laterales.

- Para mayor estabilidad, monte un remache de aluminio 
de Ø 4,8x10 mm en el orificio central del tablero.

- Coloque el estante a la altura deseada y u�lice un tornillo 
M6x10 mm, uno en cada esquina, y atorníllelo 
en el marco del estante.

- Los estantes aba�bles se montan con dos tornillos 
M6x10 mm en cada esquina.

- Estante deslizante, consulte el manual de instrucciones 
en la página 6.

- Las extensiones del marco del estante se montan con dos tornillos 
M6x10 mm y dos tuercas M6 en la parte superior del marco del estante.

- El estante superior se monta con un tornilloM6x10 mm y una tuerca M6.

- Todos los tornillos deben montarse con su tuerca 
correspondiente.

- Cuando u�lice una extensión de soporte 
(N ° de pieza 1844), ajuste la altura y asegúrelo con 
dos tornillos de collar M6x10 mm y tuercas de collar M6.

- Si es necesario, se puede cortar la exensión.

- Luego, el soporte se monta con dos tornillos M6x10 mm 
y tuercas M6 en el estante.

- Pata de soporte del marco de la balda, ajustada a la altura 
deseada y montada con tornillo M6x10 mm y tuerca.
- Cuando u�lice un soporte con ángulo ajustable, asegúrese de establecer 
el ángulo horizontal.

- Monte el estante con dos tornillos M6x10 mm 
y tuercas M6.

- Cuando u�lice un estante con longitud ajustable, establezca la longitud 
y taladre cuatro orificios de 6,5 mm en el costado del estante (dos 
en cada lado) y �jelo con tornillos M6x10 mm 
y tuercas M6.



6  

 
 
 

 

 

 

 

1. Install the locking bar(E) at preferred 
height with M6x10 (F) screws. Secure with 
the M6 nuts if possible!  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

This manual relates to the sliding 
shelves1881-1899. 

2. Make sure that the brackets are installed 
in the shelf frame holes directly above the 
locking bar. 

3. Assemble the guide rails to the shelf 
frame before mounting the bearings. 

S l iding shelves 

x1 x1 

A 
B 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! Este manual hace referencia a los 

cajones XL 1881-1899

CAJONES XL

1. Instale la barra de bloqueo (E) a la altura deseada con tornillos 
M6x10 (F). ¡Asegúrelo con las tuercas M6 si es posible!

2. Asegúrese de que los soportes estén instalados en los orificios 
del bas�dor de estantería directamente encima de 
la barra de bloqueo.

3. Monte los rieles de guía en el bas�dor de estantería 
antes de montar los rodamientos.



7  

 
 

4. NOTE: For proper function of the sliding shelf, 
the frames need to be mounted with equal 
diagonal measures. 

 
 
 
 
 
 
 
 
 
 

5. Align the shelf to fit the bearings. Gently 
slide the shelf in to place. 

 
 
 
 
 
 
 
 
 
 
 

6. Apply the two stop screws (M6x10) to the 
bottom of the shelf when the two holes in 
the shelf have passed the locking bar. 

 
 
 
 

 
 
 
 
 
 
 

7. Install the two parts of the handle with 
clip-on fasteners as shown in the pictures 
below. 

 

CLICK 

CLICK 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

4. NOTA: Para que los cajones XL  funcione correctamente, 
los marcos deben montarse con medidas diagonales iguales.

5. Alinee el estante para que encaje en los cojinetes. 
Deslice suavemente la estantería en su lugar.

6. Coloque los dos tornillos de tope (M6x10) 
en la parte inferior de la estantería cuando los dos 
orificios del estante hayan pasado la barra de bloqueo.

7. Instale las dos partes del mango con sujetadores de clip 
como se muestra en las imágenes a con�nuación.



8  

 
 
 
 
 

 

x18 x24 x9 x9 x9 x6 x6 x6 x6 
 

 

 
Pic 1 
It´s important that the shelf frames are 
mounted symmetrical, the diagonals 
measures should be the same. 
 
Pic 2 
Mount the sliding shelves with three shelf 
frames each, as seen on page 6 -7. Mount 
the sections in the van, preferably with M6 
collar screw and M6 collar nut. If you don't 
have room for a nut under the floor you can 
use 6,4mm steel rivet. Check the cross 
measurement before drilling, pic 1. 

 
Pic 3 
Place one half of the floor on top of the shelf 
frames and mark for drilling, do the same with 
the other half. Drill 6,5mm hole for steel rivets, 
two in each shelf frame.  

 
Place lashing rings (max 200mm from wall or 
interior and max 1200mm between the rings), 
drill and mount these with M8 screw, large 
washer and lock nut. Consider if you are 
planning to have an interior on top of the 
floor, you may have to re locate the lashing 
rings.  
 
Mount one half of the floor at a time with 
6,5mm steel rivet. Remember to mount the 
interior on top of the floor if you should have 
it, or prepare with T-nuts, before you fitting 
the floor. 

 

T5310, mounting kit for false floor, contains:  

 
 
 
 
 

Pic 2 

 
 
 
 
 
 
Pic 3 

 
 
 
 
 
 
Pic 1 

False Floor with Sl iding Shelves  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

T5310, kit de montaje para falso suelo, con�ene:

Imagen 1
Es importante que los bas�dores de estanterías 
estén montados simétricos, las medidas diagonales 
deben ser las mismas.

Imagen 2
Monte los cajones XL con tres bas�dores de estanterías 
cada uno, como se ve en la página 6-7. Monte las secciones 
en la furgoneta, preferiblemente con un tornillo 
M6 y una tuerca M6. Si no �ene espacio para una 
tuerca debajo del piso, puede usar un remache de acero 
de 6,4 mm. Verifique la medida transversal antes de 
perforar, imagen 1.

Imagen 3
Coloque una mitad del piso encima de los bas�dores de 
estanterías y marque para perforar, haga lo mismo con la 
otra mitad. Taladrar orificio de 6,5 mm para remaches 
de acero, dos en cada bas�dor de estantería.

Coloque los anillos de sujeción (máx. 200 mm desde la 
pared o el interior y máx. 1200 mm entre los anillos), 
perfore y móntelos con un tornillo M8, una arandela grande 
y una contratuerca. Considere si planea tener un interior en 
la parte superior del suelo, es posible que deba volver a 
ubicar los anillos de sujeción.

Monte la mitad del suelo a la vez con un remache de acero 
de 6,5 mm. Recuerde montar el interior en la parte superior 
del piso si es necesario, o prepárelo con tuercas en T, 
antes de instalar el suelo.

Imagen 1

Imagen 2

Imagen 3

Falso suelo con cajones XL



9  

 
 

- Place the shelf at the desired height. 
- Mount with two M6x10 mm self-

tapping screws in each corner and 
collar nuts. 

- If the shelf is mounted to a drawer use 
M6x10 mm collar screw and M6 collar 
nut. 

- Mount the plastic latch in the shelf 
and shelf frame, place the Dropfront 
in position and mount the other latch. 
Use the M5-screws included in the 
installation kit.  

- Fasten the plastic latch on the 
Dropfront using the included plastic-
dedicated screws.  

- Adjust the latches carefully to 
avoid any rattling from the 
Dropfront piece.  
 
 

- When mounting a Dropfront at 
floor level, mount the latch in the 
shelf frame with the M5- screws 
included in the installation kit. 

- Mount a latch, place the front in 
position and mount the other 
latch. Use the provided washer in 
between the latch and the shelf 
frame for the lower hole, to 
compensate for the thickness of 
the shelf. 

- When mounting to a support leg 
(Part no: 2090) you must have a 
spacer app. 5mm between the 
latch and leg (not included in the 
kit). 

 

 

Example on a Dropfront section 
 

The example shows a section with 3 
shelves, 2 with Dropfront and a 
"regular" top shelf. Also shown is a 
Dropfront at floor level which can be 
useful to have in front of a wheel tub.  

Dropfront 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

  

 
 
 
 
 
 
 
 
 
 
 
 

A few points to consider before you start to mount. 
Note that this is a general mounting instruction! 

 
• Pre-assemble as much as possible outside the vehicle, and make 

sure that the assembled unit will be able to pass through the door 
opening. 
 

• Make sure that the rotating speed of your screwdriver is not too 
high (500 - 900rpm is the optimal range) when you are installing 
self-tapping screws on the Shelf frames. 

 
• Most of our products have the necessary holes pre-

punched for assembling and mounting, but in some 
cases you will have to drill some holes by yourself. 

 
• Locate suitable pillars to attach the racking to, e.g. the structural 

pillars at B, C or D location, as well as some horizontal pillars above 
and below window level. 

 
• Locate the position of fuel tank, spare wheel, fuel -and brake lines, 

electrical cables, etc. Make sure not to damage these while 
drilling or attaching screws and rivets. 

 
• Keep in mind that electric -and hybrid cars are more restricted 

when it comes to drilling. (find out more information regarding this 
topic on the car manufacturers converters’ website).  

 
• If an installation kit in included, it contains all the fastening 

components needed for installation. 
 

• It is better to use too many fixings than too few!  
 

• Usage of collar nut (counter nut/jam nut) are mandatory, wherever 
it is possible to install one, for every screw. 

 
• Remember to use corrosion protection after drilling the vehicle.   

 
• The vehicle might need to undergo an inspection at your 

local authorities for approval of the safety related aspects of 
the installation. Please check your country's laws and 
procedures regarding this matter. 

 
 
 

 
 

M6 - 14 Nm  
M8 - 24 Nm  

 

Torque  

Important, before you start! 
Read this manual thoroughly! 

- Coloque el estante a la altura deseada.

- Montar con dos tornillos M6x10 mm en cada 
esquina y tuercas.

- Si el estante está montado en un cajón, u�lice 
un tornillo M6x10 mm y una tuerca de  M6.

- Monte el inserto de plás�co en la estantería y 
el bas�dor, coloque el frontal en su posición 
y monte el otro inserto. U�lice los tornillos M5 
incluidos en el kit de instalación.

- Fije el inserto de plás�co en el frontal
 con los tornillos específicos para plás�co incluidos.

- Ajuste los pes�llos con cuidado para evitar 
cualquier movimiento de la pieza frontal.

- Cuando monte un frontal al nivel del 
suelo, monte el pestillo en el bastidor con los 
tornillos M5 incluidos en el kit de instalación.

- Al montar un pestillo coloque el frontal en posición 
y monte el otro inserto. Utilice la arandela 
proporcionada entre el inserto y el frontal para el 
ori�cio inferior, y así compensar el grosor del estante.

- Al montarlo en una pata de apoyo (pieza nº: 2090), 
debe tener una aplicación de espaciador. 
5 mm entre el pestillo y la pata (no incluido en el kit).

El ejemplo muestra una sección con 3 estantes, 2 
con frontales y un estante superior "normal". 
También se muestra un frontal a nivel del suelo 
que puede ser ú�l tener en el paso de ruedas.

Ejemplo de un Frontal.

Frontales



10  

 
 
 
 
 
  
 Dropfront shelves without Dropfront  
  

Install the Plastic bins’ bracket on 
the set of holes where you can find 
corresponding holes at the back 
of the Dropfront shelf. Use 2 pcs of 
M6 collar screws and collar nuts for 
every bracket. 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 Dropfront shelves with Dropfront 
  

Install the Plastic bins’ bracket 
where you do not find 
corresponding holes at the back 
of the Dropfront shelf. Use 2 pcs of 
M6 collar screws and collar nuts for 
every bracket.  

 
  
 

*The Dropfront works perfectly fine even 
without a bracket. 

 
 
 
 
 
 
 
 
 
 
 

Dropfront shelves & Plastic bins  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

Estantes sin frontal

Instale el soporte de las gavetas de plás�co 
en el conjunto de agujeros donde puede encontrar 
el que corresponde a cada cual en la parte posterior 
del frontal. U�lice 2 piezas de tornillos de 
collar M6 y tuercas para cada soporte.

Estantes con frontal aba�bles. 

Instale el soporte de las gavetas de plás�co 
donde no encuentre los agujeros correspondientes 
en la parte posterior del frontal.
U�lice 2 piezas de tornillos M6 y tuercas 
para cada soporte.

* El frontal funciona perfectamente sin soporte

Estantes sin frontal y gaveta de plástico



11  

 
 
 

- Cut one end of the shelf. 
- Apply corrosion protection. 
- Drill holes, see A. The screw is 

M4, so the hole needs to have 
a diameter of Ø 4 mm. 

- Mount the front, see B, with 
the included screws. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

- Place the Flipfront against the 
Inner Shelf, as demonstrated in the 
picture. 
 

- Install the Flipfront on the Inner 
Shelf using the two Stepped Rivets 
included in the package. 

 
 
 
 
 
 

- Place the Inner Shelf inside the 
Outer Shelf and adjust to desired 
length. 

- Drill through the Outer shelf’s holes, 
on each side, in to the Inner Shelf 
and mount together using M6 
collar screws and collar nuts. 

 

A 
B 

F l ipfront 

Adjustable Shelves with Fl ipfront 

Stepped Rivet Flipfront Inner Shelf
  

Outer Shelf 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

- Coloque el frontal aba�ble contra el estante interior, 
como se muestra en la imagen.

- Instale el frontal aba�ble en el estante interior 
usando los dos remaches escalonados incluidos en el paquete.

- Corta un extremo del estante.

- Aplicar protección contra la corrosión.

- Taladrar agujeros, ver A. El tornillo es M4, 
por lo que el agujero debe tener un 
diámetro de Ø 4 mm.

- Montar el frontal, ver B, con los tornillos incluidos.

Remache Ciego  Frontal abatible   Estante interior   Estante exterior

- Coloque el estante interior dentro del estante exterior 
y ajústelo a la longitud deseada.

- Taladre a través de los orificios del estante exterior, 
a cada lado, en el estante interior y móntelos con tornillos 
y tuercas M6.

Darles la vuelta a los frontales

Estantes ajustables con frontales abatibles



12  

 

- Cut off one end of on the 
two shelves you want to 
splice.  

- Apply corrosion protection 
on the cut area. 

- Insert the joint in the in-
folded edges of the 
Selves. 

- Mark for drilling, drill four 
6,5mm holes.  

- Mount using 4 pcs. of M6 
collar screw and M6 
collar nut. 

 
 
 
 
 
 
 
 
 
 

- Place the Shelf Frames on top 
of each other and mount 
them together using 2 pcs. of 
collar screws and collar nuts, 
as shown in the picture.  

 
 

- Place the Multipurpose 
Bracket inside the first Shelf 
Frame (1), slide it up and 
through both Shelf Frames (2), 
as shown in the picture.  

 
 

- When the two lower holes of 
the Multipurpose Bracket align 
with the upper holes of the first 
Shelf Frame, they can be 
mounted together using 4 pcs. 
of M6 self-tapping screws and 
collar nuts. 

 
 

- Use the Multipurpose Bracket’s 
upper hole as a template to 
drill a hole in the top Shelf 
Frame. Mount the top Shelf 
Fame to the Bracket using 2 
pcs. of M6 self-tapping screws 
and collar nuts.  

 
 

- The Multipurpose Bracket can 
also be used to support a Shelf 
in case of need to cut a Shelf 
Frame, as demonstrated in the 
picture. 

 

Mult ipurpose Bracket  

Shelf  joint 

1 

2 

- Corte un extremo de los dos estantes que desea empalmar.

- Aplique protección contra la corrosión en la zona de corte.

- Inserte la junta en los bordes doblados de los estantes.

- Marque para taladrar, taladrar cuatro agujeros de 6,5 mm.

- Monte con 4 uds. de tornillo de collar M6 y tuerca de collar M6.

- Coloque los bas�dores de estantería uno encima del otro y móntelos 
juntos usando 2 uds. de tornillos  y tuercas, como 
se muestra en la imagen.

- Coloque el soporte mul�usos dentro del primer bas�dor
(1), deslícelo hacia arriba y a través de ambos bas�dores
(2), como se muestra en la imagen.

- Cuando los dos agujeros inferiores del soporte mul�usos se alinean 
con los orificios superiores del primer bas�dor, se pueden 
montar juntos u�lizando 4 tornillos y tuercas M6.

- U�lice el agujero superior del soporte mul�usos como plan�lla para 
perforar un orificio en el bas�dor superior. Monte el estante 
al marco superior en el soporte con 2 tornillos y tuercas M6

- El soporte mul�usos también se puede u�lizar para 
sostener un estante en caso de que sea necesario cortar 
un bas�dor, como se muestra en la imagen.

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  Unir los estantes

Soportes multiusos



13  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

or 

Mounting/Instal lation Overv iew  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  Montaje / instalación Descripción general



14  

 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
 
 
 
 
 
 
 
 
 
 

  
 
 
 
  
 
  
   

  
  

 
 
* Drill through holes in back of Drawer, attach to body beam. 

Mount brackets under the Drawer, attach to body beam.

 
 

* 

* 

* 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

* Taladre agujeros en la parte trasera del cajón, �jelo a la viga de la carrocería.
Monte los soportes debajo del cajón, �jelos a la viga de la carrocería. 



15  

 
 
 
 

- Place the assembled unit in the van.  
- Mount the angle brackets in top portion 

of the unit using M6x10 mm collar screw 
and M6 collar nut – if not possible, use 
6.5mm steel rivets instead. 

- Make sure that the brackets can be 
mounted in the van's chassis. If you can’t 
find any fixing point you must mount an L-
Type rail between vehicle's vertical pillars. 

- Drill Ø 6,5mm holes for steel rivets. 
- If the unit’s height exceeds 890mm, it 

should be mounted with an extra angle 
bracket in a horizontal -or vertical pillar.  

 
 
 
 

When drilling in body side, use as 
short a drill as possible to prevent 
damaging the outer surface of the 
vehicle. Use corrosion protection 
when drilling in the vehicle.  

 
- Place the assembled unit in the van. 
- Mount the angle brackets in top portion 

of the unit using M6x10 mm collar screw 
and M6 collar nut.  

- Attn. If possible the angle brackets 
should be mounted in front of the 
shelf frame, see picture. 

- Make sure that the brackets can be 
mounted in the van's chassis. If you can’t 
find any fixing point you must mount an L-
Type rail between vehicle's vertical pillars. 

- Drill Ø 6,5mm holes for steel rivets. 
- If the unit’s height exceeds 890mm, it 

should be mounted with an extra 
bracket in a horizontal -or vertical pillar. 

 
 
 
 
 

- A "standalone" pipe shelf is mounted with 
our support bracket (Part. No. 1840) in van 
chassis with steel rivets. 

- Each end of the shelf can be mounted 
directly in the chassis with steel rivets, 
see picture. 

- Drill Ø 6,5mm hole for the steel rivet. 
 
 
 
 
 
  

Instal lation in vehicle  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  
- Coloque la unidad ensamblada en la furgoneta.
- Monte los soportes en ángulo en la parte superior 
de la unidad con un tornillo M6x10 mm y 
una tuerca M6; si no es posible, u�lice 
remaches de acero de 6,5 mm.
- Asegúrese de que los soportes se puedan
montar en el chasis de la furgoneta. Si no puede 
encontrar ningún punto de fijación, debe montar un 
riel �po L entre los pilares ver�cales del vehículo.
- Taladrar orificios de Ø 6,5 mm para remaches de acero.
- Si la altura de la unidad supera los 890 mm, debe 
montarse con un soporte angular adicional en un 
pilar horizontal o ver�cal.

Cuando taladre en el lado de la carrocería, u�lice 
un taladro lo más corto posible para evitar dañar la 
superficie exterior del vehículo. U�lice protección 
contra la corrosión cuando taladre en el vehículo.

- Coloque la unidad ensamblada en la furgoneta.
- Monte los soportes angulares en la parte superior de la unidad 
con un tornillo M6x10 mm y una tuerca M6.
- Atención: Si es posible, los soportes angulares deben montarse 
frente al marco del estante, vea la imagen.
- Asegúrese de que los soportes se puedan montar en el chasis 
de la furgoneta. Si no puede encontrar ningún punto de fijación, 
debe montar un riel �po L entre los pilares ver�cales del vehículo.
- Taladre orificios de Ø 6,5 mm para remaches de acero.
- Si la altura de la unidad supera los 890 mm, debe montarse 
con un soporte adicional en un pilar horizontal o ver�cal.

-Un estante de tubería "independiente" se monta con 
la pieza No. 1840) en el chasis de la furgoneta con 
remaches de acero.
- Cada extremo del estante se puede montar directamente 
en el chasis con remaches de acero, ver imagen.
- Taladrar orificio de Ø 6,5 mm para el remache de acero.

Instalación en el vehículo



16  

 
 
 
 
 

- Install the Airline tracks in the van’s 
chassis (horizontal -or vertical pillars). 

- Make sure to slide in enough sliding T-
nuts in the tracks before you mount 
them to the van.  

 
 
 
 
 
 
 
 

- Use Ø6,4mm flatheaded countersink 
steel rivets, with 75mm distance in 
between, where it is possible. 

- If you can’t find any fixing points you 
must mount an L-Type rail between 
vehicle's vertical pillars. 

 
 
 
 
 
 
 
 
 
 
  
  
  
 
 
 
 
 

- Place the pre-assembled unit 
against the Airline track. 

- Use the dedicated airline 
angle bracket (Part. No 2813) 
and M6x10 collar screws.  

- This particular bracket is 
equipped with oblong holes 
to enable for vertical 
adjustments.   
 

- Drill Ø6,5mm holes in the 
bracket, if the holes of the 
Shelf Frame do not match with 
the ones of the bracket. 

 
 
 
 
 
 

Installation of Airline tracks  

Part. No 2813 

Part. No 5910 & 5911 

 

-Instale los perfiles de amarre en el chasis de la 
furgoneta (pilares horizontales o ver�cales).
- Asegúrese de introducir suficientes tuercas ple�na T 
en los perfiles antes de montarlos en la furgoneta.

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

- U�lice remaches de acero, cabeza plana 
de Ø6,4 mm, con una distancia de 75 mm entre ellos, 
cuando sea posible.
- Si no puede encontrar ningún punto de fijación, debe 
montar un carril de soporte �po L entre los pilares ver�cales 
del vehículo.

- Coloque la unidad premontada contra el 
per�l de amarre
- U�lice el soporte angular (pieza nº 2813) 
del soporte de perfil y los tornillos M6x10.
- Este soporte en par�cular está equipado 
con orificios alargados para permi�r ajustes 
ver�cales.
- Taladre orificios de Ø6,5 mm en el soporte, 
si los orificios del bas�dor Estantería no 
coinciden con los del soporte.

Instalación de los perfiles de amarre



17  

 
 
 
    

- Place the assembled unit in the 
van, mark for drilling through the 
pre-punched holes in bottom of 
the support plinth. 

- Drill Ø 6,5mm holes for screws or 
steel rivets. 

- Use M6 collar screw with collar nut. 
- If there is not enough room for a nut 

underneath the floor, use 6.4mm steel 
rivets instead. 

 
 

- Place the assembled unit in the 
van. 

- Mount angle brackets with 
M6x10 mm collar screw and M6 
collar nut.   

- Mark to drill the floor. 
- Drill Ø 6,5mm holes for screws or 

steel rivets.  
- Use M6 collar screw with collar nut. 
- If there is not enough room for a nut 

underneath the floor, use 6.4mm steel 
rivets instead. 

Locate the position of fuel tank, 
spare wheel, fuel -and brake lines, 
electric cables, etc. Make sure 
not to damage these while drilling. 
Use corrosion protection in the 
drilled area.  

 
- Place the assembled unit in the 

van. 
- Mark for drilling through the pre-

punched holes in bottom of the 
shelf frame.  

- Drill Ø 6,5mm holes for screws or 
steel rivets. 

- Use M6 collar screw with collar nut. 
- If there is not enough room for a nut 

underneath the floor, use 6.4mm steel 
rivets instead. 

 
 

The vice and vice holder are 
mounted with the mounting kit 5510. 
- Place the vice holder where it is to be 

installed. 
- Mark for drilling through holes in the 
bracket. 
- Drill Ø 8,5mm holes.  
- Mount with M8 screw, locknut and a 

washer on each side.  
- Protection cover is mounted with sheet 

metal screws.

Installation in floor 

Alternative 1 

Alternative 2 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

- Coloque la unidad ensamblada en la furgoneta, 
marque para taladrar a través de los agujeros preperforados en la parte 
inferior del zócalo de soporte.
- Taladre agujeros de Ø 6,5mm para tornillos o remaches de acero.
- U�lice un tornillo  y una tuerca.M6.
- Si no hay suficiente espacio para una tuerca debajo del suelo, 
use remaches de acero de 6,4 mm.

- Coloque la unidad ensamblada en la furgoneta
- Monte los soportes angulares con un tornillo M6x10 mm 
y una tuerca M6.
- Marque para perforar el suelo.
- Taladre agujeros de Ø 6,5mm para tornillos o remaches de acero.
- U�lice un tornillo M6 con una tuerca.
- Si no hay suficiente espacio para una tuerca debajo del piso, 
use remaches de acero de 6,4 mm.

ALTERNATIVA 1

ALTERNATIVA 2

Localice la posición del tanque de combus�ble, 
rueda de repuesto, líneas de combus�ble y frenos, 
cables eléctricos, etc. Asegúrese de no dañarlos mientras 
perfora. U�lice protección contra la corrosión en el área perforada.

- Coloque la unidad ensamblada en la furgoneta
- Marque para taladrar a través de los orificios preperforados en la parte 
inferior del bas�dor de estantería.
- Taladre agujeros de Ø 6,5mm para tornillos o remaches de acero.
- U�lice un tornillo M6 con una tuerca.
- Si no hay suficiente espacio para una tuerca debajo del suelo, 
use remaches de acero de 6,4 mm.

El tornillo de banco y el soporte de tornillo de banco se montan con el kit de instalación 5510.
- Coloque el soporte del tornillo de banco donde se instalará.
- Marca para taladrar agujeros en el soporte.
- Taladrar agujeros de Ø 8,5 mm.
- Montar con tornillo M8, contratuerca y arandela a cada lado.
- La tapa de protección está montada con tornillos para chapa.

Instalación en el suelo del vehículo



18  

 
 
 

- Place the floor in the vehicle, and the 
racking on the floor where it is going 
to be mounted, to mark where the 
racking stands on the floor. 
 

- Use the special brackets (Part. No 5915 
& 2814) to mount the racking to the 
integrated Airline tracks in the floor.   

 
- Combine with T-nuts (Part No. 7172 or 

7173), to complement the track 
installation, for a more secure 
installation where there is a need. Drill 
holes in the wooden floor using the 
pre-punched holes of the Shelf 
Frame, Support Plinth, etc. as a 
template for T-nut-holes. 

 
- Attn! The racking can be installed using 

solely T-nuts, if an integrated Airline 
track is not included in the floor. 

 
- Drill Ø 7.5mm holes for M6 T-nuts and 

Ø 9.5mm holes for M8 T-nuts.  
 

 
 
 
 
 

- Place the sliding T-nut in the floor 
Airline track. 

 
 
 
 
 

- Mount the floor to the car using the 
provided lashing point plates.  

  
- Place the pre-assembled unit in 

the car and mount, using the 
special brackets for the Airline 
track and collared screws for the 
pre-assembled T-nuts. 

- Mount the racking to the walls, in 
car’s pillars or wall Airline tracks. 
See page 15 & 16. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Floor installation in electrical -and hybrid cars  

 

 

2814 

5915 

Part. No 5910 & 5911 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  
- Colocar el suelo del vehículo, y las estanterías en el suelo 
donde se va a montar, para marcar la posición de la estantería en el suelo.

- U�lice los soportes especiales (Ref. 5915 y 2814) para 
montar las estanterías en los rieles Airline 
integrados en el suelo.

- Combine con tuercas en T (Ref. 7172 o 7173), para 
complementar la instalación del carril, para una 
instalación más segura donde sea necesario. 
Taladre orificios en el piso de madera u�lizando los 
orificios preperforados del marco del estante, el zócalo 
de soporte, etc., como plan�lla para los orificios de las 
tuercas en T.

- ¡Atención! La estantería se puede instalar u�lizando 
únicamente tuercas en T, si no se incluye una 
pista Airline integrada en el suelo.

- Taladre orificios de Ø 7,5 mm para tuercas en T M6 
y orificios de Ø 9,5 mm para tuercas en T M8.

- Coloque la tuerca en T deslizante 
en el suelo del perfil de amarre. 

- Monte el suelo en el coche u�lizando las placas 
de amarre suministradas.

- Coloque la unidad premontada en el automóvil 
y móntela, u�lizando los soportes especiales 
para la pista Airline y los tornillos  para 
las tuercas en T premontadas.

- Monte las estanterías en las paredes, en los 
pilares del automóvil o en las vías de la 
aerolínea de pared. Consulte las páginas 15 y 16.

Instalación en el  suelo de vehículos eléctricos e híbridos.



19  

 
 

 
 
 
 
 

No. 2809       No. 2801            No. 2813             No. 2814 
 

 
 
 

 
 
 
 
 
 
 

No. 2801 
 

No. 2803 
 

No. 2805 

All brackets are 53mm in width. 

 

 

 

 
No. 2807 No. 2808

 

 
 
 
   

 

M6x10 mm Collar screw 
No. 5600 

M6x35 mm Collar screw 
No. 5620 

Steel rivet 6,4x30 mm 
No. 5664

 
 
 

   
M6 Collar nut 

No. 5640 

 
 

 
 

M6 Washer 
No. 5642 

M6 T-nut 
No. 7172  

 
 
 
 
 

Screw 4,2x32 mm 
No. 7174 

Steel rivet 6,4x22 mm 
No. 5662 

 
 
 
 
 

Alu. rivet 4,8x10 mm 
No. 5672 

 
 
 
 
 
 
 
 
 

   
                   No. 5501                     No. 5502                     No. 5510 

Instal lat ion components 

Sliding T-nut 3xM6 
No.5911 

Sliding T-nut 2xM6 
No.5910 

Clamp fitting 
No.5915 

Mounting bolt M8x25 
No.5913 

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

Todos los soportes �enen 53 mm de ancho.

Componentes para la instalación



20  

 
 

Your new van has just been delivered, and you have a pile of tools 
and spare parts to fit in. In this case we have some thoughts we 
want to share with you; 

 
• Heavy loads low, seems obvious for most of us. But you 

should always remember this: store your loads in a clever 
way to avoid back problems and the handling of the 
vehicle will be much better and safer on the road too. 

• If you have bulky packages laying on the 
floor make sure to use proper straps to 
secure them in place! It can save your life!  

• Remember that System Edström is only a 
tool for a safer and better organized 
vehicle, at the end of the day it is up to you 
how effective this tool will function in your 
everyday life. 

• When you equip your vehicle with the tools and spare 
parts you'll need, remember to PUT the items in place. If 
you just throw them in place, you can damage tools, parts 
and the racking. 

• Use drawer inserts and plastic bins as much as possible, it will 
help to keep your stuff in place. This also avoids unnecessary 
noise and damaged tools/parts.  

• Benefit from a quieter life by using plastic foams in the 
drawers, it also prevents damage to tools and parts. 

• Rubber mats on the shelves are a matter of course for us. 
Again, it reduces noise and your tools and parts stay in place.  

 
 

All weights apply to evenly spread loads. 
 
 

Product Load capacity with regard to 
the racking 

Manufacturer’s 
recommended load 

capacity 
Drawers with extension slide 40 kg - 

Shelves 300 – 1600mm length 70 kg - 
Shelves 1601 – 2200mm length 50 kg - 

Adjustable shelves  30 kg - 
Sliding shelves 80 kg - 

Sliding platforms  200 kg - 
Sliding interior frame 140 kg - 

Sliding pegboard 125 kg - 
Airline track lashing rings 100 kg 1000 kg 

Airline straps 100 kg 400 kg 
Straps with tensioner 250 kg 400 kg 

Nylon straps 100 kg 400 kg 
Elastic straps 5 kg 5 kg 
Airline tracks 100 kg 400 kg 

 
Attention! 

-Keep in mind that every vehicle has a maximum payload which shall not be exceeded. 
-An object weighing 10 kg in rest, weighs 300 kg in an abrupt braking/deceleration at 50 km/h. 

 

Handl ing of System Edström  

How much can you load in System Edström  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

Su nueva furgoneta acaba de ser entregada y �ene un montón de herramientas y repuestos 
para montar en su estantería. En este caso, tenemos algunas ideas que queremos compar�r con usted.

• Cargas pesadas mejor en el suelo, parece obvio para la mayoría de nosotros. 
Pero siempre debe recordar esto: almacene sus cargas de manera inteligente para evitar 
problemas de espalda y el manejo del vehículo será mucho mejor y más seguro también en la carretera.

• Si �ene paquetes voluminosos �rados en el suelo, asegúrese de usar las correas 
adecuadas para asegurarlos en su si�o. ¡Puede salvar su vida!

• Recuerde que System Edström es solo una herramienta para 
un vehículo más seguro y mejor organizado, al final del día, depende 
de usted la eficacia de esta herramienta en su vida diaria.

• Cuando equipe su vehículo con las herramientas y repuestos que 
necesitará, recuerde COLOCAR los elementos en su lugar. Si simplemente los 
coloca en su lugar cualquiera, puede dañar las herramientas, las piezas y las estanterías.

• Use incerciones de cajon y gavetas de plás�co tanto como sea posible, esto ayudará a mantener sus cosas en 
su lugar. Esto también evita ruidos innecesarios y herramientas / piezas dañadas.

• Bene�ciese de una vida más silenciosa mediante el uso de alfombrillas de espuma  en los cajones, 
también evita daños a herramientas y piezas.

• Las alfombrillas de goma en los estantes son una cues�ón de ru�na para nosotros. Nuevamente, reduce el ruido 
y sus herramientas y piezas permanecen en su lugar.

¡Atención!
-Tenga en cuenta que cada vehículo �ene una carga ú�l máxima que no debe sobrepasarse.

-Un objeto que pesa 10 kg en reposo, pesa 300 kg en una frenada o desaceleración brusca a 50 km/h.

 
Producto 

 
Capacidad de carga 

respecto a las estanterías 

 
  

 
Cajones con corredera 
extensible 

40 kg - 

Estanterías 300 – 1600mm 
largo. 

70 kg - 

Estanterías 1601 – 2200mm 
largo. 

50 kg - 

Estantes ajustables. 30 kg - 
Cajones XL 80 kg - 
Plataforma deslizante 200 kg - 
Bas�dor interior deslizante 140 kg - 
Tableros deslizantes 125 kg - 
Perfiles de amarre y anillas de 
amarre.  

100 kg 1000 kg 

Cinchas 100 kg 400 kg 
Cinchas con tensor 250 kg 400 kg 
Cinchas de Nylon 100 kg 400 kg 
Cinchas elas�cas 5 kg 5 kg 
Perfiles de amarre 100 kg 400 kg 

 

Conducción del sistema Edström

¿Cuánto se puede cargar en las estanterías?.

Capacidad de carga 
recomendada

por el fabricante



 

 
  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  



 

   
 
 
 

 
 
 

 
 
 
 

 

Up to 5 years 
warranty 

Crash tested Made in Sweden 

 
 

 

SYSTEM EDSTRÖM BILINREDNINGAR AB 
Raseborgsgatan 11 
164 74 Kista 
Sverige 

Order +46 (0)10 102 95 00 
Sales +46 (0)10 102 95 01 
Switchboard +46 (0)8 590 920 20 
info@edstrom.se

 3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

3  

2 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1 2 
 

If the extension slides are mounted on the case, 
remove them before mounting the drawers to 
each other. (Further down on this page you can 
find out how the extension slides are attached.)  

 
1 Place drawer cases on top of each other. 

 
2 Screw the cases together with M6x10 mm 

collar screw and secure with the M6 nut. Two 
sets of screws and nuts per case is enough –
preferably in diagonal pattern. 

 
Use the same method as above to mount a 
support plinth and secure with M6x10 mm collar 
screws and nuts. 

 

 
 
 
 
 
 

1 
 
 
 
 

You should have 2 different extension slides, one 
marked "L" for left and one marked "R" for right. 

 
1 Fit the two pegs in the circular 

corresponding holes in the back of the 
drawer case. 

 
2 Snap the flange in the square hole in the 

front of the drawer case. 
 

3 Pull out the slides and snap the drawer on to the four 
flanges. 

 
4 Push the drawer in. 

              3 

Installation of Extension slides  

4 

2 

Drawer instal lation  

SYSTEM EDSTRÖM BILINREDNINGAR AB
Raseborgsgatan 11
164 74 kista
Sverige

COMPONENTES Y SERVICIOS ZINCA, S.L.U.
Los Angeles, 38
Pol. Centrovía 
50198 LA MUELA, ZARAGOZA.
+34 876 041 112
www.zinca.net


